w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

Catalogue 2019-01.1 1



LC Loudspeakers
Mounting hardware

LC Loudspeakers Mounting hardware

BESCHALLUNGSTECHNIK

Page Type Description Size Box size Weigh Picture Example
3 Overview LC-hardware
4 LC-VF Wallmount for LC4T,LC18,LC18-54 200x50x12 190x130x80mm | 1kg
Adjustable 4-7°
5 LC4-UB Vertical mounting bracket for LC4T- 155x77x40 190x130x80mm | 0,5kg
Adjustable -10 to 100°
6 LC-DUB Double mounting bracket-for wall/ceiling 155x135x40 | 190x130x80mm | 0,9kg
mounting of LC4T,LC18,LC18-54 -
Adjustable 180°
7 LC-PMH | Pole mount for horisontal for LC4AT Pole/tube 180x135x35 | 190x130x80mm | 1kg
J60-76mm
Adjustable 4-7°
8 LC-PMV Pole mount for vertical LCAT Pole/tube 132x132x95 | 190x130x80mm | 1kg
J60-76mm
Adjustable 4-7°
9 LC-PML | Pole mount for horisontal/vertical mounting of 200x160x25 | 190x190x75 0,8kg
LCAT Pole/tube @120-130 mm
Adjustable -10-100°
10 LC- Pole mount for horisontal/vertical mounting of 2000x150x25 = 190x130x80 0,8kg
PML-97 LCAT Pole/tube @97-110 mm
Adjustable -10-100°
11 LC-PMXL | Pole mount for horisontal/vertical mounting of 150x180x30 | 190x190x75 0,8kg
LCAT Pole/tube @140mm
Adjustable -45°
12 LC-VA 90° Heavy Duty bracket. 3 x@10mm holes 80x45x35 Bag 0,2kg
13 LC-VE 90° bracket. 2 x@10mm holes 51x33x25 Bag 0,2kg
14 LC-FL1 Extension 70mm 132x35x30 Bag 0,2kg
15 LC-KF1 Cluster mount 4x90° 200x132x35 | 190x190x75mm  1kg
Pole/tube @ 60-76 mm
Adjustable 20°
LC-BS1 Spare M10 DIN hex bolt kit for LC-VF 70x40 Bag 0,2kg
LC-BS2 M10 x 20 w nuts DIN 70x40 Bag 0,2kg
LC-BS3 Spare kit for mounting in LC series cabinets rail = 70x40 Bag 0,2kg

M10 DIN hex bolt w nut and nylon washer

Catalogue 2019-01.1




LC Loudspeakers
Mounting hardware

LC Loudspeakers Overview Mounting hardware

BESCHALLUNGSTECHNIK

Mounting type LC4 LC4 Vertical LC18/LC18-54 LC18/LC18-EN Accessory  Accessory
Horisontal Horisontal Vertical
Wall adjustable 4-7° LC-VF LC-VF
Wall adjustable 0-90° LC-DUB LC4-UB/LC-DUB LC-DUBx2 LC-DUBx2
Ceiling adjustable 0-90° LC-DUB LC4-UB/LC-DUB LC-DUBx2 LC-DUB x2
Pole/tube @ 60-76mm 4-7° LC-PMV LC-PMV
Pole/tube @ 60-76mm adjustable 0-90° LC-PMH KF1 LC-VA LC-BS3
Pole/tube @ 120-130mm LC-PML LC-PML
Pole/tube @ 97-110mm LC-PML-97 LC-PML-97
Pole/tube @ 120-130mm adjustable 0-45° LC-PML LC-PML LC-PMLx2 max | +FL1>10°
10°
Pole/tube @ 140mm adjustable 0-45° LC-PMXL LC-PMXL LC-PMXLx2 +FL1 >10°

Catalogue 2019-01.1




Loy lazke Wervze"
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-VF
6198472

Wall mount for LC4T, LC18 and

LC18-54
Wall mount
Adjustable 4-7°
4
Fits: LCA4T, LC18 and :

LC18-54

Box contains:
1 pc Wallmount LC-VF

2 pes M10 FZV hex bolt 60mm DIN W
2 pcs M10 FZV hex bolt 7Omm DIN

4 pcs M10 FZV nut DIN N

2 pcs 21 x 10 nylon washer : 2

Measurement mm: 200x50x12 B NG "“i
Measurement box mm: 190x130x80

Weight kg: 1 h f

for Bult M10DIN

Lo
! \Spér i hogtalarprofilen
Lo

Catalogue 2019-01.1




Loy lenks Vewvze"
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC4-UB
6198473

Bracket LC4T

Vertical adjustable mounting bracket

Adjustable -10°-100°

Lcus f:;""g"“’ =
6108473 sy Y
Fits: LC4T VKiOSkg . |Materiak Stal | i

19x13x8cm  |Varmgalvaniserat  SAGREN&Co |

Box contains:

1 pc Bracket L.C-UB

2 pcs M6x16 A4 hex socket screw
& pcs 6x15 nylon washer

2 pcs 24 x 13 nylon washer

Measurement mm: 155x77x40
Measurement box mm: 190x130x80
Weight kg: 0,4

6198473
I: Stal
oD, |vanmgahanierst | SAGRENBCo

Catalogue 2019-01.1 5



w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-DUB
6198474

Double Bracket
LCA4T, L.C18 och L.C18-54

Wall/ceiling mount
Adjustable 180°
Fits: LC4T, LC18 and

LC18-54

Box contains:

1 pc Double Bracket LC-DUB

2 pcs M10x25 FZV hex bolt DIN
2 pcs M10 FZV nut DIN

2 pcs 21 x 10 nylon washer

Fasteners mounted on the product:
2 pcs M8x25 FZV

& pces M8 FZV nut

& pcs Nordlock 8mm locking washer

Measurement mm: 155x135x40
Measurement box mm: 190x130x80
Weight kg: 0,7

Catalogue 2019-01.1

e B e |
LC-DUB 6198472 | 4
semzen,

Wi G ey




w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-PMH
6198475

Pole mount L.C4T

Horisontal mount

Pole/tube @: 60-76mm
Adjustable 90° =
i
Fits: LC4T, LC18 and
LC18-54

Box contains:

1 pc L.C PMH pole mount

2 pcs M10x25 FZV hex bolt DIN
2 pcs M10 FZV mutter DIN

& pcs 21 x 10 nylon washer

2 pcs M12x40 FZV hex bolt

2 pcs M12x70 FZV hex bolt

2 pcs M12 nut

Fasteners mounted on the product:
1 pc M10x25 FZV

1 pc M10 FZV nut

1 pc Nordlock 10mm locking washer

Measurement mi: 180x130x35
Measurement box mm: 190x130x80
Weight kg: 1

Catalogue 2019-01.1 e



Loy lazke Wervze"
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-PMV
6198476

Pole mount
LC4T, I.C18 and I.C18-54

Vertical mount

Pole/tube @: 60-76mm
Adjustable 4-7°

Fits: LCA4T, LC18 and

LC18-54

Box contains:

1 pc LC-PMYV pole mount

1 pc M10x60 FZV hex bolt DIN
1 pc M10x70 FZV hex bolt DIN

6 pcs M 10 nut DIN

& pcs 21 x 10 nylon washer

2 pcs M12x40 FZV hex bolt

2 pc M10x70 FZV hex bolt

2 pcs M1R2 nut FZV

Measurement mm: 132x132x95
Measurement box mm: 190x130x80
Weight kg: 0,6

Catalogue 2019-01.1




w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-PML
6198477

Pole mount adjustable

Horisontal /vertical mount

Pole/tube @: 120-130mm
Adjustable - 10°-100°
Fits: LC4T

Box contains: o
1 pc LC PML pole mount o 6198477
2 pcs M10x25 FZV hex bolt DIN Lt

2 pcs M10 nut DIN

2 pcs 21 x 10 nylon washer

slandard a0

Measurement mim: 00x160x25
Measurement box mm: 190x130x80
Weight kg: 1,4

LC-PML 3Em=cn 4
6198477 (s

Catalogue 2019-01.1 9



angluﬁ_w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-PML-97

Pole mount

Horisontal/ vertical mount

Pole/tube @: 97-110mm
Adjustable -10°-100°
Fits: LCAT

Box contains:

1 pc LC PML-97 pole mount

& pcs 21 x 10 nylon washer

& pcs M10x25 FZV hex bolt DIN
& st M 10 nut DIN

Measurement mm: 200x150x25
Measurement box mm: 190x130x80
Weight kg: 1,4

Catalogue 2019-01.1 10



Loz lanks Wexvza="
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-PMXL
6198510

Pole mount L.C4T

Horisontal and vertical mount

Pole/tube @: 140mm
Adjustable: 45°
Fits: LCAT

Forpackningen innehaller:

1 pc LC-PML pole mount

& pcs 21 x 10 nylon washer

2 pcs M10x25 FZV hex bolt DIN

2 pecs M10x70 FZV nu DIN

& pcs M8x40 FZV hex bolt

3 pcs M8 nut

1 pc Nordlock 8 locking washer
Measurement mm: 150x180x30
Measurement box mm: 190x130x80
Weight kg: 0,8

Catalogue 2019-01.1

11



Loy lenks Vewvze"
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-VA
6198478

90° HD bracket
LC4T, LC18 and L.C18-54

90° heavy duty bracket with three @10mm
holes.

Use with LC-KF1/LC-PMXL

Vinweindapter |

icva | &

Vi o | 1nnehiler 20 o g

Package contains:
1 pc LC-VA 90° HD bracket e B
2 pcs Rl x 10 nylon washer

2 pcs M10x25 FZV hex bolt DIN

2 pcs M10x70 FZV nut DIN

Measurement mm: 80x45x35
Material thickness mm: 4,5
Weight kg: 0,2

| =~ -
lo-va | &

Vit 2k L2
| 190x 130x 80mm ‘ Innehiller 20 [ Sacrbviacel |

Catalogue 2019-01.1 12



anghzb_w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-VE
6198511

90° bracket
LC4T, L.C18 och L.C18-54

90° bracket with two @10mm holes.

Use with LC-KF1 or LC-PMXL

Box contains:

1 pc LC-VE 90bracket

1 pc 21 x 10 nylon washer

1 pc M10x25 FZV hex bolt DIN
1 pc M10x70 FZV nut DIN

Measurements mm: B51x33x25
Material thickness mm: 4,0
Weight kg: 0,2

Catalogue 2019-01.1

&l

13



Zangluﬁ_w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-FL1
6198480

70mm extension link

Extension link 70mm @14 hole
Use with LC-KF'1 in some designs.

Box contains::
1 pc LC-FL1 70mim extension

& pces M10x25 FZV hex bolt DIN
2 pcs M10 FZV nut DIN

Measurement mm: 132x35x30
Material thickness mm: 5

Package: Plastic bag
Weight kg: 0,2

Catalogue 2019-01.1

14



w
BESCHALLUNGSTECHNIK

LC Loudspeakers
Mounting hardware

LC-KF'1
6198511

Cluster mount

Cluster mount for up to four loudspeakers
90°horisontal splay.

Pole/tube @: 60-76mm
Adjustable: LCAT 20°

LC18 6°

LC18 with FL1 20°
Fits: LCA4T, LC18 and

LC 18_54 MONTERINGSANVISNING LC-VATILL LC-KF
Box contains: 1. Fast forst bultfdrbandet mot stolpen med mutter (A)
1 of LC-KF'1 Cluster mount for 3 Montera darefier LCVA (C) och tl siet mtier ©)
Accessories: LC-VA/LC-VE / LC-FL1
& pcs M10x25 FZV hex bolt \4 F e c
2 pes M10x60 FZV hex bolt o 0 o
6 pcs M10 FZV nut - ;
4pcs Nordlock 10 locking washer y
Measurement mm: 200x132x25
Measurement box mm: 190x130x80 *
Weight kg: 1

Catalogue 2019-01.1 15





